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Zi A A = A # A il £ K

Hh X 4 5 X i HH 5 X it HH 5 = it HH
il 2 1 13,948 14,524 28,472 12,951 580 674 1,254 843 14,528 15,198 29,726 13,564
= =} 1,424 1,483 2,907 1,156 5 18 23 16 1,429 1,501 2,930 1,160
ES = 3,111 3,296 6,407 2,661 60 82 142 106 3,171 3,378 6,549 2,734
F B 1,009 1,001 2,010 804 5 14 19 15 1,014 1,015 2,029 811
B & & 2,615 2,586 5,201 2,048 52 63 115 83 2,667 2,649 5,316 2,111
m H b 3,032 3,074 6,106 2,759 60 88 148 112 3,092 3,162 6,254 2,821
B & b 2,765 2,794 5,559 2,266 44 76 120 109 2,809 2,870 5,679 2,350
= = BT 2,446 2,591 5,037 2,201 14 28 42 35 2,460 2,619 5,079 2,211
£ #A 731 821 1,552 735 1 4 5 4 732 825 1,557 736
= it 31,081 32,170 63,251 27,581 821/ 1,047 1868 1,323 31,902 33,217 65,119 28,498
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Hh A = Hh A [ Hh A A Hh A 0
X R | B | % i e B gER | B | & | i e (B gy | 8 | & [ ¢ t#w (B AERR | B | & | 5 |
i X 872 887 1,759 848 E#HLEK 159 164 323 138 HFERKX 292 300 592 247 M—RK 198 223 421 164
W F K | 1,295 1,348 2,643 1,248 _ | db #1 X 149 152 301 108 b X 336 312 648 280 N X 171 174 351 144
R T K 229 254 483 262|= B HK 114 138 252 106 = E 5 K 269 284 553 216 & INE=K 282 296 578 228
A X | 1,625 1,748 3,373 1,443 BARK 343 361 704 270 AERR 71 1A 142 66 INERX 657 662 1,319 623
7 B X | 1,666 1,790 3,456 1,660 iEH X 475 489 964 380 % hEREX 340 351 691 263| # | iR E X 445 429 874 364
INR X 229 231 460 217|8 EfEthX 189 197 386 158 TBRERX 401 418 819, 286 ZFRXEKX 381 401 782 289
=IO 21 23 44 18 HERERX 248 244 492 191 e 350 330 680 258
¥R K 59 60 119 48 # X 5t | 1,429 1,501] 2,930| 1,160 iy FE#FHERX 397 362 759 306|3& FAREK 235 243 478 213
LRV 14 84 158 66 FREK 137 127 264 109 BERERX 83 80 163 64 TH K 84 112 196 67
FIHTER 155 133 288 120 TREX 118 137 255 113 B ¥ X 230 2217 457 192
o X | 1,032 1,107] 2,139 1,026| |miE = | 181] 196 377 138 i X & | 2,809 2,870 5,679 2,350
# B &2 K| 1,124 1,168 2,292 1,003 % FXERX 229 254 483 192 #h X 5t | 2,667] 2,649| 5,316| 2, 111 =2 = 844 871 1,715 135
B X 1,108 1,127 2,235 927 XL X 384 485 869 437 - £ % 326 345 671 295
me R 847 908, 1,755 877 FREEX 311 299 610| 243 ARFEHEK 275 211 546 207|™| = 124 114 238 120
LtHFHRK 514 506 1,020 553 hERX 179 170 349 123 & wE X 130 145 275 122 ik R 319 328 647 325
THHERK 125 147 2172 128 TERX 300 328 628 257 PE X 421 397 818 349|;z| A 847 961, 1,808 736
L % X 839 882 1,721 740 EFINFX| 613 673 1,286 504 =] 136 135 271 99
M BFERX 204 192 396 173 & TIIIFX| 455 455 910 420|% H / K 314| 342 656, 272 X 51| 2,460 2,619 5 079 2, 211
E B KX 537 560, 1,097 80| FEERK 185 17 356 132 b ERX 168 183| 351 139 JEH WL 78 93 171 73
EN S 471 474 945 424 BERX 79 83 162 66 5 i X 117 142| 259 120 E B 258 323 581 296
AR KX 414 414 828 3217 i KERX|1,472| 1,494] 2,966| 1,459 & O 184 203 387 153
B X 211 261 472 234 #hX Bt | 3,171 3,378| 6,549 2, 734 e 7y B 59 53 112 ME EMRN 67 69 136 59
ERAE 38 38 16 31 b B 34 36 70 41
il == 65 67 132 57 B X 280| 260, 540, 217 #h X Bt | 3,092] 3,162] 6,254 2,821 N 5 # 717 68 145 68
FORREK 774 789 1,563 654 + FORX 370| 368 738 299 T k2 B 28 32 60 40
TFERBRX| 213| 242| 455 176 H 6 1 Ji 6
#h X 5t 14,528/ 15,198 29,726(13,564|m |\ F K 151 145 296 119
#h X &t 7132 825 1,557 736
#X E+ 1,014 1,015 2,029 811 PRI ThELET |31,902133,217/65,119] 28, 498




